
Scientific Notation (B)Convert each ordinary number to scientific notation.
64,000 = 2,700,000 =

0.00073 = 10,840 =
0.0000035 = 0.00058 =

9,840 = 60,100 =
86,220,000 = 830,000 =
0.0000044 = 0.000000052 =
0.0000433 = 0.000000026 =

0.00000266 = 780,000,000 =
86,000,000 = 5,712 =
0.0000682 = 2,944 =
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Scientific Notation (B) AnswersConvert each ordinary number to scientific notation.
64,000 = 6.4 × 10⁴ 2,700,000 = 2.7 × 10⁶

0.00073 = 7.3 × 10⁻⁴ 10,840 = 1.084 × 10⁴
0.0000035 = 3.5 × 10⁻⁶ 0.00058 = 5.8 × 10⁻⁴

9,840 = 9.84 × 10³ 60,100 = 6.01 × 10⁴
86,220,000 = 8.622 × 10⁷ 830,000 = 8.3 × 10⁵
0.0000044 = 4.4 × 10⁻⁶ 0.000000052 = 5.2 × 10⁻⁸
0.0000433 = 4.33 × 10⁻⁵ 0.000000026 = 2.6 × 10⁻⁸

0.00000266 = 2.66 × 10⁻⁶ 780,000,000 = 7.8 × 10⁸
86,000,000 = 8.6 × 10⁷ 5,712 = 5.712 × 10³
0.0000682 = 6.82 × 10⁻⁵ 2,944 = 2.944 × 10³
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